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Green Religion
Au salon de thé . . Gymnastics What do religious and
Subjec . (At the tea room) What doe.s |t.mea.n t.o . Information . . Outdoor and non-religious
Painting be a Muslim in Britain Light Technology and Valuing Difference . Stone Age to Iron Age
t focus today? Internet Safety Adventurous worldviews teach
Teambuilding about caring for the
Earth?
Complimentary Un croque-monsieur Muslim Light Online Witness Co-operate Climate change Chronological
Contrasting Un croissant Ibadah light source Social media Bystander Audience Environmental Archaeologist
Research Un sandwich au Submission Ramadan | Dark Trust Unique Elements protection Palaeolithic
Replicate fromage Shahadah absence of light Safe Positive feedback Refine Sustainability Mesolithic
Atmosphere Un pain au chocolat Salah transparent Positive contributions | Confidence Aesthetically Khalifa (Islam) Neolithic
Light Un sandwich au Sawm translucent Personal information | Self-esteem Criteria Stewardship Tribal
Explore jambon Zakah Opaque Communicate Diversity Extension (Christianity) Hunter-gatherers
. Une part de quiche Hajj Shiny Responsibility Biological sex Tension Bhumi (Hindu dharma) | Civilisation
Explain Une brioche Pilgrimage Matt Social group Sexual orientation Inverted Tu B’Shevat (Jewish) Settlement
Evaluate Une omelette Surface Report Gender identity Dynamics
Influence Une part de gateau au Shadow Real life Gender expression Combination
Reflect chocolat Reflect Cultural norms Counter-tension
Une crepe Mirror Body language Counter-balance
Une tartelette Sunlight Empathy Agility
Une salade Dangerous Media influence Strength
Un café straight lines Assumption Technique
Une café au lait light rays Control
Un thé Balance
Un chocolat chaud Shapes —tuck,
g Un coca-cola straddle, pike, arch,
g Un jus d’orange back support, front
5 Une limonade support, shoulder
§ Une grenadine stand, bridge
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